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Solve:
Q.1. (i) 3+ 20 = 44
Sol. Ix = 44 - 20
Ix =24
3x 24 o
? = ~ (Diwviding by 3)
x=§
(ii) ax _3x
5 4
Sol. Mulitiplied by 4, 5 L.C.M. 20.
dx Ix
2 (20)-=(20) = 420
S (20) a (=0) (20)
16x - 15x = 80
x = B0
{1i1) Ix+3x+1) =69
Soi. Ix+3x+3 =469
6y + 3 = 69
6r = 69-3
6x = 66
6x 66 Dividing by 6
—_— = — Vi
5 5 (Dividing by 6)

U
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(iv) (90 - 9x) +27 =90 +9
Sol. 90 -9x +27 =99
-9 =99 -90-27

-O9x=-18
_91 - -IB Di d b-9)
29 29 (Dividing by
x=2
Q.2. J(x+3)=14+x
Sol. Ix+9=14+x
Ix-x=14-9
=5

2x

t’
i

(Dividing by 2)

x:

(SR RV N YRV

Q1. H2x+5)=25+x
Sol. Ge+ 15 =25+x
6r-x =25~15
5x = 1.0
5 10
3 = 35 (Dividing by 5)
x=2
9x -3 = 3(2x-8)
Sol. Ox -3 = 6x - 24 ' .
Ox —6x = —24 +3

——
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Qs5.

Sol.

Q.6.

Sol.

Q.7.

Sol.

-

3
= -7

32x-1) =5(x-1)

= &5y -§

= —5 + 3 (By Transposing)

- =

= 3(1 +3x)

= 3 + Oy

|

I

3+ 12
= 15

1S .
= = (ividing by )

I
T

- _4(3 (Dividing by 4)

4

L}

(Dividing by 3)

e . . . —
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Q8.
Sol.

Q.9.

Sol.

Q.10.

Sol.

2v+]

x+5

2v + ] =

2y + 1

2y - x

S5x+3

x+(
5+ 3
Sx+3

Sx - 2x

Ix =

X
3

X
}‘—6“*\.[;"

Jr

1

(V¥)

v
0
0
=37 =13)+36

y' =4y-9y+36

=Ny -9)

6 -y

= (6- y): (Squanng on both sides)
= 36+ =12y |

=36+ -12y-y

= 36+y' =13y |

-0

0

i

wWw-4)-9v-4=0

-0

If yv-4=10

Then, v=4
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andif y-9=10

Then, y=9
Check to eliminate extrancous root y = 9.
Q.11 x=15-2J%
Sol. 2Vx =15-x

(2& )2 = (15-x)" (Squaring on both sides) .
4x = 225+ x* =30x
0=225+x"=30x—4x
0= x'+225-34x
= x’ -34x+225 =
x'-9x-25x+225 =0
x(x —9) - 25(x 79) =0
 (x-9)x-25)=0
If x-9=0
then x=9
Andif x-25=0
then x=25
. Check to eliminate extraneous roots x =25
Q12 m-13=m+7
Sol. (m=13)" = (Jm+7) Squaring both sides
m =26m+169 =m+7

m -26m+169-m-7 =0
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m =2Tm+162 =

m -18m-9m+162 =

m(m - 18)-9(m-18) =0
(m—18)}(m-9) =0

If m-18=0
then m=18
If any m-9=0
Thén | m=9

Check to eliminate

Q.13
Sol. (J@EIEY
5n+9
0
0
= n'-Tn-8

extraneous roots m =9

Jin+9 =41

(" = I)z (Squanng both sides)
nt=2n+l
n'-2n+l1-5n-9

n-Tn-8

0

n'-8n+n-8 =0

nin-8)+1(n-8) =0

(n—8)n+l) =0
If n-8=0
Then n=8
If any n+tl1=0
then n=-l

Check to eliminate

Q.14
Sol.

extraneous roots n =-1

3+J2x-1 =0
v2x-1 =0-3

—
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oY 2" - l - 3
Square root 1s always positive
Theretore={ ) SS.

1 et solve

viv=1 =3
(V2x=1) = (-3) (Squaring both sides)

2x-1=9
2x =9 + |
2x = 10
X 10 _
5~ 5 (Dividing by 2)
x=35
L.H.S. = V2x=1 Tocheck
=y2x5-1 (Putting x = 5)
- V1o-1.
- J9
=3
Square root is always positive.
Hence, SS. =1{ }

Q.I.S \.f‘l'+5+7 =10
Sol. Vx+3 =0-7
Jx+5 = -7

Square root 1s always taken positive,
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Hence, SS. ={ }
Q.16. m—- V-4 = ) _
Sl Vax-1 =2+ Jx-4
Squaring root on both sides
) (\/E’.T—])l - (2+x/.!c_~3)2
2x-1=A+x—A+4/x -4
x-1-x=4/x-4
x-1=4J/x-4

(Again squaring) (-T‘l)z - (4~Jx—4)2.

x'=2x+1 = 16(x - 4)
X' =2x+1 = 16x - 64
x'=2x-16x+1+64 =
x'=18x+65 =

x'=13x-5x+65 =

xx-13)=5(x-13) =0
(x—13)x=5)=0

It x-13=0
- Then x=13
Ifany x-5=0
then x=35
$.S. = {13,5)
QI. Vx+l =3
Sol. (wa+ ) (3 (Squaring both sides)

x+1=9
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Q.18.
Sol.

Q.19.
Sol.

Q.20.
Sol.

x=9-1
x=8
V2x-1 =5
(Vax-1 )2 = (5) (Squaring both sides)
2 -1=125
2x =25+ 1
2x = 26

26
X = —

2
x=13
x-1 =10
( x—l)2 = (10) (Squaring both sides)
x-1=100
x=100+1
x =101
Sx+4 =7
(Vix+d )2 = (7)' (Squaring both sides)
Ji+ 4 =49 |
Ix =49 -4
3x =45
45

x:-—-

3
x=15
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